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BHASKAR CLASSES PVT LTD 

Test - I 

1. ∫
1

𝑥(log 𝑥)2  𝑑𝑥 is equal to  

a. 2 log(log 𝑥) +  𝐶  

b. −
1

log 𝑥
+ 𝐶 

c. 
(log 𝑥)3

3
+ 𝐶  

d. 
3

(log 𝑥)3 + 𝐶  

2. The integral ∫
𝑑𝑥

√9−4𝑥2
 is equal to  

a. 
1

6
 sin−1 (

2𝑥

3
) + 𝐶 

b. 
1

2
 sin−1 (

2𝑥

3
) + 𝐶 

c. sin−1 (
2𝑥

3
) + 𝐶 

d. 
3

2
 sin−1 (

2𝑥

3
) + 𝐶 

3. ∫
sec 𝑥

sec 𝑥 −tan 𝑥
 𝑑𝑥 equals  

a. sec 𝑥 − tan 𝑥 + 𝐶  

b. sec 𝑥 + tan 𝑥 + 𝐶 

c. tan 𝑥 − sec 𝑥 + 𝐶 

d. −(sec 𝑥 + tan 𝑥) + 𝐶 

4. ∫ 2𝑥+2  𝑑𝑥 is equals to  

a. 2𝑥+2 + 𝐶 
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b. 2𝑥+2 log 2 + 𝐶 

c. 
2𝑥+2

log 2
+ 𝐶 

d. 2.
2𝑥

log 2
+ 𝐶 

5. ∫ 𝑒5 log 𝑥  𝑑𝑥 is equal to  

a. 
𝑥5

5
+ 𝐶 

b. 
𝑥6

6
+ 𝐶 

c. 5𝑥4 + 𝐶 

d. 6𝑥5 + 𝐶 

6. Find ∫
2𝑥+1− 5𝑥−1

10𝑥  𝑑𝑥. 

7. Find ∫
𝑑𝑥

√𝑥+𝑥
 . 

8. Find ∫
sin6 𝑥

cos8 𝑥
 𝑑𝑥 . 

9. Evaluate ∫
2

1+cos 2𝑥 
 𝑑𝑥 . 

10. Write the value of ∫
𝑑𝑥

𝑥2+16
 . 

11. Find ∫
𝑥2

(𝑥2+1) (3𝑥2+4)
 𝑑𝑥 . 

12. Find ∫
2 cos 𝑥

(1−sin 𝑥)(2−cos2 𝑥)
 𝑑𝑥 . 

13. Area of the region bounded by the curve 𝑦2 = 4𝑥 and the X-

axis between 𝑥 = 0 and 𝑥 = 1 is  

a. 
2

3
 

b. 
8

3
 

c. 3 
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d. 
4

3
  

14. Find the area of the ellipse 𝑥2 + 9𝑦2 = 36 using integration. 

15. The general solution of the differential equation 
𝑑𝑦

𝑑𝑥
= 𝑒𝑥+𝑦 is 

a. 𝑒𝑥 + 𝑒−𝑦 = 𝐶 

b. 𝑒−𝑥 + 𝑒−𝑦 = 𝐶 

c. 𝑒𝑥+𝑦 = 𝐶 

d. 2𝑒𝑥−𝑦 = 𝐶 

16. The number of solutions of the differential equation 
𝑑𝑦

𝑑𝑥
=

𝑦+1

𝑥−1
 

, when 𝑦(1) = 2, is  

a. Zero 

b. One 

c. Two 

d. Infinite 

17. Find the particular solution of the differential equation 
𝑑𝑦

𝑑𝑥
−

2𝑥𝑦 =  3𝑥2𝑒𝑥2
; 𝑦(0) = 5. 

18. Find the general solution of the differential equation 

(𝑥2 + 1)
𝑑𝑦

𝑑𝑥
+ 2𝑥𝑦 = √𝑥2 + 4 . 

19. Solve the differential equation 𝑥𝑑𝑦 − 𝑦𝑑𝑥 =  √𝑥2 + 𝑦2 𝑑𝑥 . 

20. Solve the differential equation 𝑥 sin (
𝑦

𝑥
)

𝑑𝑦

𝑑𝑥
+ 𝑥 − 𝑦 sin (

𝑦

𝑥
) =

0 . Given that 𝑥 = 1, when 𝑦 =
𝜋

2
 .  

www.bhaskarmathsclasses.com

